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SUBJECT CODE NO:- C-3043
FACULTY OF COMMERCE & MANAGEMENT
B.Com. T.Y. (Sem-VI)
Examination November/December- 2022
Advanced Financial Accounting-11

[Time: 3:00 Hours]|

Please check whether you have got the right question paper.

N.B i) Question No. 1 is compulsory.
ii) Solve any four questions from Q. No.2 to Q. No.7

Q.1 (A)Select the most appropriate answer-

1. As-2ison
a) Discloser of accounting policies
b) Valuation of Inventories
¢) Revenue Recognition
d) Depreciation Accounting

2. Farm Accounting includes
a) Agriculture and Horticulture
b) Rearing of live stock
c¢) Dairy and poultry
d) All of the above

3. Which is not part three Her system of Panchayati Raj.
a) Gram Panchayat
b) Rajya Sabha
¢) Panchayat Samiti
d) Zilla Parishad.

4. In India double accounts system is followed by utility concern.
a) Individual
b) Public
¢) BothA &B
d) None of these

5. First time adoption of International financial reporting standards is
a) IFRS2
b) IFRS 1
¢) IFRS7
d) None of these

(B) Write answer in one sentences
1) How many Accounting standards have been issued by ICA-1?
2) Which Account is debited the farm output consumed by the proprictor?
3) Who is the Father of local Self Government of India?
4) Where to adopt double account system first time?
5) In which year accounting standard board of India was established?
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(C)Fill in the blanks 05
1) In India accounting standards are issued by
2) Live stock is of a Firm
3) The Maharashtra Zilla Parishads and Panchayat Samitis act established in the
year.
4) At present electricity companies are governed by
5) Total number of IFRS is
(D) True of False 05
1) AS-3 relates to cash flow statement.
2) The profit of Dairy and poultry account is transferred to general profit and loss A/C
3) In Grampanchyat accounting analytical cash Book is prepared.
4) Format of financial statement of electricity companies arc laid down in the companies act.
5) TFRS 8 was issued in November 2004.
The following Balance are extracted from the Nakul Co. Ltd. On 31* March-2021 15
Particulars Amount Dr. Amount Cr.
Share capital - 500000
Sunday creditors - 1000
Depreciation fund - 250000
Production cost of Power 30000
Distribution cost 5000
Plant 630000
4% Debentures - 250000
Land and Buildings 125000 |
Sundry Debtors 48000
Mains 251000
Stores 8000
Establishment charges 17000
Int. on Debentures 10000
Cash at Bank 7000
Depreciation 20000
Sale of power - 128000
Rent of Meter - 7000
Credit Bal. net Revenue E 15000
1151000 1151000
Following increases recorded in year 2020-21 in-plant Rs. 15000 Land and Building Rs. 5000,
Mains Rs. 51000. In the year 2020-21 share capital were increased 1/5
Prepare revenue Account. Net revenue Account and general Balance sheet.
From the following particular relating to Murud Grampanchyat for the year ended 31 * March 15

2020

Prepare a receipts and payments Accounts for the year ended 31 March 2020
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Particulars Amount
Grand from central Govt. 100000
Grand from state Govt. For employees- 80000
For chowkidars- 120000
Receipts from Zilla Parishad 20000
Receipt for Panchyat Samiti 30000
Payment for general administration 76000
Expenses for public health 90000
Street Lighting expenses 22000
Expenses for local sports 24000
Expenses on works given by Z.P. 16000
Expenses on newspapers, Periodicals 3000
Sale of old news papers 200
Expenses for chowkidars 104000
Payment for duties 10400
Receipts from Taxes and duties 40800
Receipts from state govt. 6000
Expenses on Entertainment 8000
Miscellaneous Expenses 33600
Balance in hand on-1.04.2019 21000
Loan from state Govt. 50000

From the particulars given below prepare a dairy Account for the year ended 31 $' March 2021,

Particulars Amount
Opening Stock:
Live stock - 35000
Hay (Cattle Feed) - 13750
Stores - 2500 51250
Purchases:
Live stock - 10000
Hay (cock) - 47500
Stores - 2500 60000
General Expenses 5000
Salaries and wages 4000
Depreciation on Dairy Machinery 5000
Sales:
Live stock 17500
Milk 50000
Calves 10000
Cream and Ghee 25000
Dry catties 5000
Closing stock:
Live stock 20000
Cattle feed 6250
Stores 750
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Q.5

Q.6
Q7

C-3043

Proprietor has consumed Milk for Rs. 5000 during the year and also supplied Milk of Rs. 2250 to
his brother as free of charges. A Dairy Machinery having Book value of Rs. 15000 sold for Rs.
21750 during the year.

From the following particulars, you are the required to prepare poultry Account for the year 15
ending 31* Dec. 2021

Particulars Amount

Opening Stock:

Poultry Feed 2800

Poultry birds 4000
Purchases:

Poultry Feed 4000

Poultry birds 13000
Sales:

Poultry birds 10000

Eggs 16000

Broilers 2000
Closing Stock

Poultry Feed 1800

Poultry birds 4000

Incubator for poultry brought on 1.7.2021 of Rs. 4000. Charge depreciation on Incubator @ 20%
p.a. A loan of Rs. 5000 was taken from bank on 1% Jan-2021 @10% p.a.

Workers are supplied with eggs of Rs. 400 free of cost. The proprictor used eggs of Rs. 400
and poultry birds of Rs. 200.

What is IFRS? Explain objectives and Importance of IFRS. 15

Write a short notes (any three) 15
1) As-26 Intangible Asset.
2) Global Accounting and Auditing standards
3) Characteristics and local Self Government
4) Indian Accounting standard 2020
5) International financial accounting (IFA)
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-changes in working capital {

Balance Sheet The following are the summarized balance sheet of kimaya company Limited as on 31-12-2020 and _
Liabilities Amount Assets Amount Q.5 31-12-2021 1€
Share capital 90,000 Dead stock 60,000 Balance sheet .
Reserve & surplus Current Assets Liabilities 2020 (Rs) | 2021 (Rs) Assets 2020 (Rs) 2021 (Rs)
Balance: 40,000 Stock 240,000 Share capital 100,000 100,000 | Fixed Assets 141000 80,000
Profit & loss All 50,000 | 90,000 Debtors 160,000 General R 30,000 45000 Investment 40000 100,000
Bank old 60,000 Cash 240,000 Profit and loss All | 10000 30,000 Stock 10000 70,000
Sundry creditors 190,000 Creditors 90,000 85000 Debtors 2000 10000
Total | 12,40,000 Total | 12,40,000 Provision for treat 10000 20,000 Bills Receivable | 10000 15000
Cash 38000 7000
You are required to calculate the following ratio. Outstanding exp. 1000 2000
1) Current ratio Total | 241000 282000
2) Liquid ratio Total | 241000 282000
3) Gross ratio iti i tion-
4) Net profit ratio 1. During the year a fixed assets costing of Rs.30000 and was sold for Rs.340000.
5) Stock turnover ratio 2. During the year an investment costing of Rs.7000 and was sold for Rs.80000.
Q.4 The following are the balance sheet of kimaya company limited as on 31-12-2020 and 31-12-2021 15 3. Provision for taxation was made during the year of Rs.50000
Balance sheet 4, The dividend was paid for Rs.45000.
Liabilities 31-12-2020 | 31-12-2021 Assets 31-12-2020 31-12-2021 You are required to calculate.
(Rs) (Rs) (Rs) (Rs) -cash & low statement
Pref share capital 100,000 300,000 Stock 109000 200,000
Share capital 30,000 40,000 Cash 50000 40,000
Profit and loss A/C | 250,000 300,000 | Bank 100000 95000 .
Creditors 90,000 100,000 Machinery | 200000 300,000 Q.6 ”“.M%M“ Mwﬂ_wowﬂ_ﬂsmuwﬁ.ﬂuh““ _MM _MHMM ended 31-12-2020 and 31-12-2021 from the following 15
Provision for good will 70000 60,000 *
Taxation investment | 95000 200,000 Balance sheet
Mortgage Loan 90,000 110,000 Debtors 20000 45000 31-12-2022 and 31-12-2021
Zra e oo O 30,009 Liabilities 2020 (Rs) | 2021 Assets 2020(Rs) | 2021 (Rs)
44000 40,000 ®s)
Bank old 5000 - Cash 1000 2000
Tosl | Svia i< e oo i Sundary creditors | 100,000 | 90,000 | Bank : 5000
A = ﬂoiagm for treat Mﬂ“ 45,000 | Sundary creditors 95000 90,000
- : ortage loan ; - Stock 107000 10,0000
w w%hﬂﬁh.aaﬁnumsﬁﬁm ﬁa_mmw%oo% - ety ekl Profit & loss All | 31000 32000 | Good will 20,000 20000
3. Dividend paid of Rs.40,000 § Gerenal F 40000 50,000 | Land & eE_&.aw 140,000 11000
4 Provision for taxation of Rs.35000 Share capital 150,000 200000 | Plant & machinery 63000 90000
Prepare the
A & 1 whetsongs Total | 426000 | 417000 Total | 426000 | 417000
3 4
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March 2021 March 2020

Share Capital 250000 250000
General Reserve 50000 50000
P& L Alc 45000 35000
Creditors 23000 50000
Fixed Assets 180000 200000
Plant & machinery 90000 100000
Stock 38000 40000
Debtors 20000 25000
Cash At bank 40000 20000
Sales 100000 80000
Cost of Goods Sold 60000 49600
Administration Expenses 5000 4400
Selling & distribution Expenses | 7000 6000
Advertising 2000 2000
Income From Investment 1200 1200

You are required to prepare Master budget Budgeted P&L A/c and Budgeted Balance Sheet

of X Lid as on 31st Match 2021

Rs.500000 and Machine-B is 600000. The cash inflow is as under

Q.4 The following is the particulars of X Ltd for the year ended 31¥ March 2021 with previous year.

Q.5 Bright company is considering proposal o install a new machines. The cost of Machine-A is

-

Year Machine - A Machine - B
1 140000 90000
1 160000 180000
11 210000 240000
v 150000 250000
v 100000 280000
The present value of Rs.1 at 10% discount rate is as follows
Year Rs.

I 0.909

11 0.826

11 0.751

1A% 0.683

v 0.621

You are required to compute Net present value (NPV) at a discount rate of 10% for both these

alternative models

CB94A0ECDEA49EF5S93E3D4898BA292ET0
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Q.6 What is Responsibility Accounting? Write in details the Responsibility Centres.

Q.7

Write Short Note on any Three (05 each)

1) Profit Centre

2) Budgetary Control

3) Zero Base Budgeting

4) Methods of Capital Budgeting

. CBY4A0ECDE49EF593E3D48988A292E70
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" Mr. Rohlt is an emp]oyee of ,}?m;wal Co Hd Chcnnar reccwmg ToUowmgmmme from salary 15

dunng the ﬁnpncml year 31621 22 “ ';_»." & 3
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b) Deamess allb‘wance (nayformmggaart) Rs. 25,0130 pm 5
c} Commmmn 10% pf the tum-;r\&pr of the company 'Iiﬁe tumover for the financial year
' 2021,215 was Rgm lakh. L7

d) ngrdren cducanon alloguance Rs. {I»OO Pm perrcﬁlld for 2 children

c) Chﬂdremhestel allowmce Rs SOme per e.‘mld for 2 children.
:ﬂ City pﬁmPcnsanry allowancc.Rs lO{}Opin

B Convcyance all‘owancc RS ISOOpng(Actual expenses is Rs.1,000 pm)
h).- ‘Fixed medxcal allowamce Rs. 2000‘ pm.
i)‘ 'House .tent ailowaqcc Rs.5 000 pm actual rent paid Rs.7000 pm as rent
) Profcsslonal tax pald Rs 600 pm
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Q.4 From the following profit & loss Ad_c moomc,,ﬁ-bm busmbss for thg gear
LY ‘\

I_Q ‘Rent mc[ude Rs. 70!333

a shop bel;mgmg tow”thc assesses;ﬁnnself

3 : X ‘2) Salary‘to staff mcludcs Rs lt 000 pald o his son, \/‘*' ; \
& . : : 3) A 1oan of Rs (20 000@, 6% p-ais t@ken ﬁ'om & w:fc out,gf *funds advanced by him.
-‘1‘7"\' ; 4)- Bundry exgcnses Rs.1. /,50{] bemg expenses mcun'ed omgﬂgnmagc.
T 5’) Entertamment mghide Rs. 659'Sp¢nt oa.rcﬁ-cshme 0f family members.
k\" Gompute Mr / Aarav’ 'S B‘usmess maome for 4:]':;1'1 assessment year 2022-23
,:.‘ ‘ g .\‘EL a':\ o5 s :.\\ y I_"
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What*ls the prpqe&lne to cajculatl

}

on mcome fromother sources?

of Aarav,, compute ] his 18
ending 31 march 2022. /& c"ﬁ -/ :-,-’?‘A & _vg..;v & -,
Particulars ; glﬁ jt Partlcul % (’a. = \ \, / 5\
To Staffsalary . ¥ 33, 000" | By Gmss profit P AR YT Qi
To Rent y \ 13 3;J()o BySundry mg {" 10 ,200 ‘ * {!_..‘;;',_'- :
To Interest on Eo}m b 16,400 }By Comnn.sswn 1} 20 300 % 2.’ ‘ﬁ:}‘-"
To Bad debts ;_:,‘ 1 50:1 By cht’ﬁ'om propetty X 25 000 f &7 W
® To Chamy 5 2@00 By] ni’vidend % -f, e 50‘6 ¥, i
To R_D'D : k2 200 =’.'{I:’ S5 ‘- . '.- ’ ¢ { {__‘_1,.;:_-5.
’,:;‘1'0 Sundry expenses A 6 500 g ‘ ’\' /i\f-:‘ 4 ’ &
/ , To Enwftammcnt‘@tps ‘I,irI--,650 ﬁ\.;} \. K \’ ,\.{.‘:\J’ ,.P :
P '“,- ;’-' : Y 1,80,850 A S T ssa
Y i -\' Addmonal mfonnauon- \ <‘;- "‘-'.-”" \w" ‘,; f)
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1) An agency may be qrcated by & 3 & & d .\‘;‘, o
(A) Agency by_EXprcss Agreemcnt - (B}ﬁgency by ‘I:mphed Ageement % o7
Q) 3 Q7 .,
(é) Nor A or‘B r,_b ' (;B) Both A & B S Bt § -~
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‘2) Accogdmg to the‘-Contract of sale, who.:s rcsponsﬁﬂe to dehyer the good§'? |
7 (AySeller \ (B) prer § 3 © No;r’A orB W (D),Both Aand B |
o ﬁmmmﬁaﬁmﬁmmaﬁj |
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4) The consideration can be of the following typcs., ‘ .\\\ L ‘\;‘;{;" ’ N ! .é?
G 2 8 e s
(A)Present (B) Past (C) futLEre (D) All of the'above. 1" e
i

J.-';‘j' o oA,
yfara @i TR 3R b &L W R o

‘\ Y s 2 ,f\_f
(A)TAIADIEA  (B) Wiﬂ?ﬁq ¥ © tﬂﬂmaﬂeﬁ# RRERICE: S
r-‘.‘, \i"‘ i E_;‘E >
& ._‘,:’.1 f '> 0! b ¢ TTE" ;E > 1 | E‘
5) The chief Information Comm;ss:oncr a:;nd Informatmp commlssloners sha-lisbc appom;ed by the, x,
_-.-_..-......i-..-o-'_'j__ <Y f \ —’ “’.i;
president on the recommq:ﬂaﬁon of a commme,c consmtu;g = A ;) & s
. “,J K 7 e ; oy .,“..,'. (\a
(A) The Prime M1msteg k, ._“J £ % oY P AN
o 3V Ly B
(B) The Leader of Qpposmon—m’ the Loksabha % y o3 o & &
(C) A Union Cablﬂet Mlmsﬁar to be npm:inatcd b_y the prime }m:mstcr . ,' v &8 : B
P K*: ey i -2'-";’ f;‘ Y sy

(D)All ofth:.abovc a8 -
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B Answer in one gen‘tencc q,; » 3 ; A\ 4 -_;.:'
G

¢ i I A,ccordmg toanch secgon of Indmn Contrac; Act the baﬂes is cal,Leﬂ the ‘Pawnee’ or ‘Pledgee’.

2) ’W"hat calked to the seﬁ‘er when.ﬂ:lé whole gf the prlce,ﬁas not bee:; Paxd or tendered? .
3) Accorgﬁhg to the\bpnsumer p:otectlon .{Lct wI:uch Councnl objcctwc is to render advice on
proinot.l on and ﬁrotcctmn‘o‘f consmp&t T ight wnhsn the state?
4) ,Accordmgm nght to Mormauoq'}\ct 2005, nny docupqent, manuscript and file means what.
5) Wh1ch ispctlon of ﬂ;e Indlan cor‘itract Addeﬂs w1@1ﬁw related to Bailment and pledge?
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C. File in the blank. oy ; f‘: L e el .
1) According to Section 2@ of the Inch&n Contraot, Act 1872, ,"A contract 1s an agréement :};«‘f—“\ K J 4
enforceable by --———:\---- & : » ‘: > 4 ‘ :/‘f ;‘ “ L f Qib‘ 3
£ )" (ryr ,.:\j’;l A
2) According to Indla:rp Contmc; Act 1872, the person dnhvenng the goods i is ;;allcd--—-;{-.‘--——- < ""-" :
X " <, . X

3) Under the cons:unﬁcr protccﬁon Act, the ob]ectlvc, of the Cenh‘al Councrl shall be tga-render adylce c

T

on promotmn ‘and protécf.lon of ---»---—-»-mglt n> : S ? 3 i:“ : ‘i-‘" \
3

L R — -and outchne of each agreemenﬂms to be lggal only, thei:l the resolunon bccomc le gal
5) Scc;ip;n-',__-..._ﬂof RTI A(:;QZOOS Presknbe the g\eﬁlgnanon ofpubllc Infonnahomﬂiccr (sgcttbn
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De J’I‘ruc or Falsc W ,\ S ; 05

& ~~I) The Word baﬂmcnt is dermed ﬁom the“French W{J‘l'd 'builder' which means' 'to deliver.

3 Bu.yer' means’wperson vmo buys o‘rtgrees to buy goods.

3) ‘thle trans‘fer of Prqperty as betv.'cen sellerand buyer, goods not be ascertained.

) Accordmg to Sec'aoﬁ 42 (subr}sectlon (1) of the Consumer Protection Act, ‘state Commission’

means a state_ Ccmsumer Blsputes Rectrcssal Commission.
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Q.7 Write short notes (Any three)
1) Discharge of contract.
.2) Contract of Agency.

‘3) Unpald seller.
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SUBJECT CODE NO:- C-3050
FACULTY OF COMMERCE & MANAGEMENT
B.Com S8.Y (Sem-1V)
Examination November/December- 2022
Cost Accounting-IT '
[Time: 3:00 Hours] s ' ' - [Max. Marks:80]

“Please check whether y@u havc gloe nght question paper.”

N.B. 1) 65 15" Compulsory :
2) Attempt any four questions from Q. 2 to % 7.
3) Use of Calculator is allewed

Q.1 A] Selectthe mdst appropriate answer. _ 05

1) Ina Conn'&st costmg, direct wages are dcblted to
La)’ Contract account. /
~ b) Contractor account
c) Contractee account -
d). ‘Work in progress a/c .

3 2) Paper milis are must.adopt
8 =" a) UnitCosting - -
=+ b) Process Costing
c) Job Costing
dj Contract Costmg

-3) Operatmg Costmg:s suitable: for
©a) Job order business
b) - Contractors
€) Sugar jndustries
) Servm mdustnes

- ""."~4) Process Costing'is sultable for
' a). Hospitals
J)) Oil refining firms -

- ¢) Transport firms- .
-~ d) Brlck Iaymg firms

ol TlTe cost whlch is to be mcun-ed even when a business unit is closed is a
@) Imputed Cost ' :
. ~b) Historical Cost.
% ¢) Sumk'Cost ..
d) Shutdown Cost

T ol o 26
e ‘ +o
4 2% . e
o - 7D78DC5B75730761402F5CEIAOE6TCA9
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B] Answer the following question in one sentence each. ; 05

1) Direct expenses are also called __

2) Warehouse rent is a part of .

3) Labour Cost is the second element of
4) Cost of Sales Plus Profit is .

5) Operating Costing is a .-

C] Fill in the blanks and rewrite the sentences. 05

1) One of the most unportant tools of Cost Planmng is
2) _____is postmortem of past costs. 3

3) Service Costing is used-in industries producing

4) Process Costing is also known as ‘costing.
5) Operatmg Costmg is also known as costing.

D] State the ffbl]owmg statements are whether True or False ' 05

Cost aocountmg is based on estimated ﬁgures
2) Costing and Cost accounting are not the same.
" 3) Abnormal expenses are excluded from cost. ;
- 4) Service is the most suitable method ina transport industry."
Y 3). Servrce Costlng is ca]led as opcratmg costing.

Q2 Brepare Cost sheet from the foliowmg data. : 15

Opening Stock of raw material ; 14000 |
_Opening Stoek of finished good 5 o 20000
' Purchaseﬁurmg the year -z 3,95,500
‘| Productive wages - & % 1,49,950
- Sale of finished.: good - 875000
\- Closing Stock of finished good - e - 25000
o  Closing Stock of raw material - , 15000

: 1 Work overhead - i 3 45000
N Ofﬁceoverhead "l : i | 54000

N

R 0 < -f,"QYou are reqmred to prepare a contract accouint showmg the profit on contract to 31% march 2015 15
..~ from the followmgjpartlculars Also show how the values would appear in the next years,
contract acoolmi. I~ . -

Gt . 7D78DCSB75730761402FSCE1AOE67CA9
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Rs

’ Rs.
Contract Price 100000 | Direct expenditure 1200
Materials sent to site 32250 | Cost of establishment 1625 |
Labour engaged on site __27400 | Wages outstanding on 31" march 900
Plant installed 5650-] Material in hand on 31 march. 700
Work certified 71500 | Direct Exps. Outstanding on 31* 100
Cash received from Contractee. 65000 | march - :
Value of plant as on 31% march - 4100 | Materials returned to stores 200
Cost of work done but not certified . 700 - -

Q4 From the following data relating fo two different Vehicles A and B compute the cost per running 15
mile. o a” : :
% A B
. Mileage run {Annual] inmiles - .- 15000 6000 |
B " ; Rs:. R
Cost of Vehicles 25000 15000
Road Licence [Annual] 750 - 750
Insurance [Annual] 700 400
.Garage Rent [Annual] 600 500
| Supervision & Salaries [Annual] 1200 1200
Driver wages per hour - 3 S
Cost-of petrol per gallon . 3 3
. Maintenance charges per miles 1.65 2.00
Miles run per gallon « - 20 miles | 15 miles
' -t Tyre allocation per mile _ 0.80 0.60
e - | Estimated life of the vehicle In miles] - 100000 75000

: You are to ¢harge interest on Cost of Vehicles at 5 % per annum. The vehicles run 20 miles

per hour onan average. -

.‘ - < " The output from pracess X Totaled 2500 units, It was considered that 200 units were on
: - abnormal loss. Normal loss:allowed was 10 %. The other information are given below.

by

& <, Material | @ Rs. 5 Per Unit
&  Labour Rs. 4000 :
~ { Overhead Rs.3350 -
g > | Wastage Rs. 2.50
: " | Realised | Per unit

You are required to prepére Process Account and Abnormal Loss Account.

Q6 &

Wl_'i_té &'Method_-ﬁf 'Recongi-ii-ﬁtion and prepare Performa.

5 o 7D78DCSB75730761402F5CE1AOE67CA9
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Q.7

Write short notes [any three]

1) Process Costing
2) Abnormal Loss

3) Contract Costing
4) Operating Costing
5) Unit of Cost
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SUBJECT CODE NO:- C-3041 : '
FACULTY OF COMMERCE AND MANAGEMENT
B. Com 8. Y (Sem-I1)
Examination November/December- 2022
Corporate Account-I- ITI d
[Time: 3:00 Hours] J ' - |[Max. Marks: 80]

Please check whether you have got the right questmn paper.
N.B Q. 1 is compulsory
2 Attempt any four questions from Q. 2 to Q. 7.
3. Use of calculator is allowed

Q.1 A) Select the most appropriate answer: : 05
1) Pre profit is
a) Before in corporation b) After incorporation
¢) Middle incorporation  d) None of these

2) Trading account consists _ N
a) Profit & loss App. A/C b) Profit & loss Alc ¢) Reserve fund dA&B

3) is debited in case of issue of debenture. :
a) Bank A/C b) Discount A/C ¢) Premium A/C d) Capital A/C:

4) Premium is given on .
a) Issue of shares b) Issue of debenture ¢) Redemption of debenture - d)Al

5) Redemption is done by using - ; _
a) Fresh issue b) Out of profit c)A&B d)None of these

B) Answer the following question in one sentence each. 05
1) What is redemption
2) What is capital profit?
3) What is pre incorporation?
4) What is preference share?
5) What is debenture?

. C) Fill in the blanks and rewrite the sentence: 05
1) D.E. E. stands for
2) Total types of debentures
3) If credit sides are more than debit sule of trading account. It is called
4) Net gain is created on
5) Pro-rata allotment is on

D) State the following statements are whether true or false: 05
1) Pro-rata allotment is on under subscription.
2) Sinking fund is created to repayment of debenture holder.
3) Interest on capital is taken as post incorporation.
4) Forfeited shares are reissued.

02D6B99486C46528DD6BOBABS2B79FFF



5) Time ratio is taken for office administrative expenses.

Dr.

Following is the balance sheet of Sindhu co. Itd. As 31* Dec. 2018.

Labilities

Z

Assets

Share capital:
3000 equity
share of ¥ 100
each

2,000 6%
Redeemable
preference
shares of 2100
each

Share premium
Profit & loss
AIC -
Sundry creditor

3,00,000

2,00,000

40,000

1,10,000
20,000

Sundry Assets
cash at Banks

~75,70,000

1,00,000

6,70,000 |

: 6,70,000 T

'The company decided-
1) To redeem the preference shares at a premium of 2 % -

2) To issue 1,500 Equity shares of ¥ 100 each at par and to use the proceeds for

redempnon

C-3041
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3) To use the profits of the company for the balance of the amount requu:ed for redemption.
Pass journal entries and prepare the balance sheet immediately after redemption

02D6B99486C46528DD6BOBABS2B79FFF




Q.3

Q4

The following is the trial balance of sunlight company Itd. As on 31 December 2018.

Trial Balance -

As on 31* December. 2018 .. - _
Debit Balance .l 4 - Credit Balance .

Building 60,000 | Fully paid :
Machinery ~ 70,000 | Share capital 1,00,000
Motor 35,000 | Sales 1,10,000 |
Cash 3,000 | Sundry creditors : 11,000
Traveling Exp. 4,000 | Commission 4,000
Discount 2,000 | Bank overdrafi- 15,000
Bank Interest 500 | Profit & loss-A/C 25,000 | -
Salaries 20,5001 (1-1-2018)
Sundry Debtors 10,000
Interim Dividend. 6,000
Audit fees 2,000
Director’s — '
Remuneration 3,000
Repairs 2,000
Wages 7,500
Opening stock 6,500
Purchase 30,000
Printing & stationary 3,000

2,65,000 i 1 2,65,000

Adjustment;

1) Closing stock on 31% December, 2018 was Z 8,000
2) Charge Depreciation on Machinery by % 3 000 and on motor by X 700
3) Outstanding wages Z 1,500
4) Directors declare a final dividend at 20% on paid up. capxtal
5) Create a reserve for doubtful debts at 5% on debtors
The Authorized capital of the company was ¥ 3,00,000 divided into
3000 Equity shares. _
Prepare the final Account of the company for the year ending 31
December, 2018. :

- Mahindra Trading company Itd. Issued 3,000 shares of €20 each at a premium of T 5 per share.

The amount was payable as follows:
On Application X5
On allotment - T 10 (including pre.)
On first & second call % 10
The company received application for 2000 shares. All Applications were accepted

~ The directors made first & second call and collected the exception of 300 shares.

Expenses issue of share amounted to % 400.
Pass Journal Entries and show Balance sheet.

02D6B99486C46528DD6BOBAB52B79FFF
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Q.5

Q.6

Q.7

On 1* April 2013 the ABC Itd. Issued Debentures for ¥ 5,00,000. Redeemable at par on 1* April 15
2018. It was decided to establish a sinking fund for the purpose of redemption.

Show the ledger Accounts to each 5% interest net and that the amount anmmlly seta
side is ¥ 90,415. Prepare Debenture rcdempnon fund A/C and Debenturc redemption fund
investment A/C.

The Ashoka Industry Limited was Incorporated on 1% may 2019, to take over, the business from 15 -

1* January 2019.
The profit & loss account of the Ashoka Industry Ltd for the year ended 31" December
2019, was as follows.

Dr. 3 _ Cr.

Particulars Z | Particulars .
To Salaries 43,200 | By Gross Profit 1,86,000 |
To Rent & Taxes 14,400 '
To Insurance 3,600
To Electricity charge 2,880
To Directors fees 3,600
To Auditors fees 1,920
To commission 7,200
To Advertisement 4,800
| To Discount “ 4,200
To office Exp. 9,000
To carriage 3,600
To Bank charges 1,800
To preliminary Expenses 7,800
To Bad Debts 2,400
To Interest on loan 3,600
To net profit 72,000
1,86, 000 : 1,86,000

The total Turnover for the year 31% December 2019 was 26,00,000 Divided into Z 2,40,000. For
the period up to 1* May, 2019 and % 3,60,000 for the remaining period Ascertain the profit
earned in the pre and post incorporation periods.

Short notes (Attempt any three) 15
1) Capital profit
2) Calls in arrears
3) Profit prior to incorporation
4) Source of Redemption
5) Issue of shares. -

02D6B99486C46528DD6BOBAB52B79FFF
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1) GRS YES] WO 1 2

2) RIS RN F1?

3) UGG PRET I W W) o v e

4) o g @ ap deid e SER R sven dde wuR e 2
5) SR IGUS Y ?

(C) Fill in the blanks. (write of Concepts) 05
1) IGST
2) GSTIN
3) SEZ
4) HSN
5) SAC

@) R S el @il Rdvean wféda war guf =y fogr 05

) Esmd
2 hgmdamaer
3) w.igs
i\

‘ 5 Wod_
® O

(D) state whether True or False 05

1) On Import of Goods IGST is levied.

2) Monthly Return submitted by Composition scheme supplier.
3) Only Registered supplier can collect GST.

4) - IGST levied on supply of services from one state to other state.

3) Input tax credit available if goods use for personal purpose.
®) @i v 8 T fbar s o Wy &, 05

1) OO FeaaR o o vd, & erE)

2) %%iﬁ%nﬁﬂﬁ@mﬂﬂﬁﬁ_ﬂqﬁ

3)  wad Aiviipd [aseR ot v & defda o Tean.

4) U AR G4l AT a1 Yeas) od aw g, i oy, & e,

5) T AR AR SR B S a5 GLANR RoaT S Hde W g,

Q.2 What is the difference between Direct Tax and Indirect Tax? 15
T& X 4 UL I 7Y G WY HO
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Total No. of Printed Pages: 5
g . SUBJECT CODE NO:- C-3059
FACULTY OF COMMERCE & MANAGEMENT
B. Com S.Y (Sem-11I)
Examination November/December- 2022
GST Account-I -VI
[Time: 03:00 Hours] [Max. Marks:80]

Please check whether you have got the right question paper.
N.B 1) Q. 1 is compulsory
2) solve any four questions from questions 210 7
Q.1 Answer the following Questions.
(A) Choose an Appropriate Altemative from the following.

05

1) Intra state supply means
a) Supply outside India.
b) Supply to Union Territory.
¢) Supply within state.
d) Supply to other state.

. . . 5:?mﬁﬁ&gﬁ&?ﬂﬁgﬁagﬁqi.&? _&&.
a) CAST and SAST
b) SAST and UTGST
¢) CAST and UTAST
d) GST Not.

3)  Indirect tax is levied on
a) person
b) Goods and services.
c) Both (a) and (b)
d) None

4)  Input Tax credit in relation to CAST means
2) SAST and cast
b) SAST and IGST
c) CAST and IGST
d) IAST, SAST and CAST

5) Details of outward supplies shall include in __
a) Invoice
b) credit note and Debit note
c) Revised Invoice
d) All of these.
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Total No. of Printed Pages: 4
SUBJECT CODE NO:- C-3039

FACULTY OF COMMERCE & MANAGEMENT
B.Com F.Y (Sem-I)
Examination November/December- 2022
Financial Accounting - |

[Time: 3:00 Hours| [Max. Marks:80]
Please check whether you have got the right question paper.
N.B 1) Question No 1 is compulsory
2) Attempt any four questions from Q.2 to Q.7
3) Use of calculator is allowed. ,
05

Q.1  Select the most appropriate answer:
1) List of balances in all accounts in ledger is called----------
. a) Balance sheet b) Profit and Loss Account ¢) Trading account d) Trial balance
2) Under the installment system the risk of loss is borne by ---------
a) Buyer b) Hirer c¢) Hirer Vendor d) Debtors

3) Single entry system 1§ --------
a) Not a systematic account b) Correct method of account

¢) Scientific method of account  d) All of the abeve

4) Good will 18 ---------- asscts
a) Current Assets b) Fixed assets c) Intangible assets d) All of the above

5) Gross loss transferred to ---——----

a) Profit and loss account b) Balance sheet c¢) Trading Account d) All of the above

. B] Answer the following questions
1) What is Trial Balance?
2) What is the Bad debts provision?
3) What is Gross profit?
4) What do you mean by net profit?
5) Why is trading account prepared?

C] Fill in the blanks and rewrite the sentences. 05
1) Credit balance of the profit and loss account 1§ -=----------
2) Opening stock is entered in a trading account on the --------- side
3) Land and Building i§ ---------- Assets
4) List of balances of all the account in ledger is called ---------
5) Gross profit is transferred to --------

RAARIECARSAAAF ATONNISNWCANIA | AFOER



Q.2

D] State the following statements are whether true or false:
1) An amount of net profit is added to the capital.

2) All indirect expenses are debited to trading account.
3) Capital account is a personal account.
4) Machinery is a fixed assets

5) Final accounts are prepared on the basis of Trial Balance.

C-3039

05

Following is the Trial balance of Mr. Ram Traders as on 31 March 2018, prepare Trading Account, 15

Profit and Loss Account and Balance Sheet as on date.
Trial Balance

Particular Debit (Rs) | Credit
(Rs)
Capital 1,25,500
Sales 1,15,000
Rent 3,500
Building 80,000
Computer table 10,000
Computer 40,000
Travelling Exp. 4,000
Printing & Stationery 3,000
Computer repairs 900
Salaries 15,000
Debtors 9.600
Motor car 37,000
Creditors 9.000
Bank Overdraft 12,000
Bad debts 1,500
Wages 7,000
Opening stock 7,000
Purchase 30,000
Carriage inward ‘ 2,000
Cash in Hand 1,000
Cash at bank 5,000
Discount 4,000
Drawings 5,000
Advertising 3,000
2,65,000 2,65,000
2
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Adjustment: -
1) Wages are outstanding for Rs. 1000/-
2) Depreciation computer by Rs. 2000/- and motorcar by Rs. 600/-
3) Closing stock Rs. 10,000/-
4) R.D.D 5% on debtors
5) Outstanding salary Rs.3000/-

Q.3 On 1" January, 2016 the Asian Ltd, acquired a lease hold property for Rs. 50,000 for a period of 15
three years. The company decided to provide for its replacement by setting up a depreciation fund.
The expected rate of interest on investment is 10% p.a. the sinking fund table shows that an annual
payment of Rs 0-30211 at 10% p.a compound interest will amount to Rs 1 in 3 years.
On 31 December, 2018 the investments were sold at book value
. Prepare: -

1) Depreciation fund account

2) Depreciation fund investment account

3) Leasehold property account

Q.4  Shoba Brother purchased machinery from Crompton Ltd. on instalment system on 1*. January, 15

2016. The cash price of the machinery was Rs 70.000. Rs 10,000 were paid on signing the
agreement and the balance in annual instalments of Rs 20,000 plus interest at 12% per annum.

Shoba Brothers charged depreciations at 20% per annum on written down value
Prepare: -

1) Machinery account
2) Crompton Ltd Account
3) Interest suspense account in the books of Shoba Brothers

.Q.S Rajesh mining company took a coal field on lease from Bose brothers from 1%, January 2015. 15
Royalty was at Rs 2 per ton of coal taken out. Minimum rent was Rs 20,000 per year. Short
workings were to be recovered within the first four years of the contract. The coal taken out during
the first four was as follows.

Year Tons
2015 4000
2016 7000
2017 11,000
2018 17,000

Prepare journal entries in the books of Rajesh mining comp.

RAAFLFCINIALAE ATOHNNIANCANA | AFOER
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Q.6  Explain the meaning and concept of hire purchase system and difference between hire-purchase 15
system and instalment payments system.

Q.7  Write short notes (any three) 15
1) Accounting cycle
2) Profit and loss account
3) Fixed installment method
4) Asset accrual method
5) Bad debts (Debtors)

RAAFSECSRSALAE ATAINMIANWANA 1 AFOER
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Total No. of Printed Pages: 4
SUBJECT CODE NO:- C-3051
FACULTY OF COMMERCE & MANAGEMENT
B.Com F.Y. (Sem-I) %
Examination November/December- 2022

Business & Industrial Economics-I

[Time: 3:00 Hours| [Max. Marks

Please check whether you have got the right question paper.

N.B i) Q. No. Lis compulsory.
ii) solve any four questions form Q. No. 2 to Q. No. 7.
i) URA®. R , '
ii) TR 5. R 4 WA . 9 JIUP! PIUTciag! ¥ U Fredl.

Q.1 A) choose the appropriate alternative from the given multiple choices.

1. is that part of the subject which deals with study of particular firms.
a) Micro-economics b) Macro-economics c¢) Economics d) None

q) RYT-HURE F) SURRA

A

3) U1 Ut udel

2. Elasticity of Demand =
) Percentage change in demand
Percentage change in price

) Percentage change in price
Percentage change in demand

o) Percentage ch_angé in supply" ) Percentage change in demand

Percentage change in demand

R. ArTfih wafwd=

ArTfidis AwsT 5
) fFrdie 25e sae

- s dwsaT
AFTOMdIS 2D ST Faw

3. Monopoly means

a) Single seller single buyer

¢) Many seller many buyer

Percentage change in supply

m%ﬂiﬂ?ﬂamm
TARTdTS 268l 460

wrofidie AwS] Ge
%) RIS IH S| 4GS

b) Single seller large buyer
d) Many seller single buyer

a

NRRIRFTSACROCINRFENIAIIANRACATIRR
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3. AR WUt !
3) U4 fashdl Uohg U _ §) Uahd fashan sriey ures
®) 3 fdshd 3P UeD 8) 3% fashd tHT Tes

4. Liquidity preference theory of Interest was proposed by
a) Lord Keynes b) Edgeworth ¢) Dr. Marshal d) Adam Smith

¥. SISl APps W=y ygeian Rigia i Ao,
3) Bis far=g ¥) Terayf %) 3. ARG 3) 3fsH f{y

5. An indifference curve always slopes _ from left to right.
a) Downward b) Upward ¢) North-West d) South-East

4. A G5h 71 AeHl ST g Iodie S {7 THRad ST S
3) @ro=n S ) ) JTR-URGH $) afamrgd @

B) write the answer of the following questions in one sentence C

) GIOT® YxATdl THT aIaaTd IR &l

1. Whois the father of economics?

IRRETE S DI BOrdra?

2. What is market?
SSRYS WU B?
3. Give full formof BSE
BSE 3 qof v g,
4. ‘What is consumer equilibrium?
SUHIRT Fo RIS HTI?
5. State the factors of production. )

C) Fill in the blanks. (
@) Reprgr s 4R, '

1. ‘The book “Principles of Economics’ is written by

3R Hoda 8 G gi- fofe.

2. Indifference curves never each other

FH! gp UhHD AT HHiE! et :

NRARIRETSAMRCCINKFENAYIANRACATIRR



> Q.2

Q.3

Q4

Q.5

3.

Different-Market structures affect the of buyers & sellers

fafay SToIRYS TReT IqHied 9 fehe e R g .
Liquidity preference theory .~ is price for money.

Sl e gl o il g el T g1,

When the change in price of one commodity changes of other commodity, it is
called cross elasticity of demand.

U1 T ﬁm?ﬁamwm U IR _ A §qo gIvar] fhdor

D) State whether following statements.are true on false.

B) Wote Ay I fbarsRieR aigd d T

1.

Alfred Marshal is father of Economics

3fRATE TS § b ARl 8.

Indifference curve Analysis is study of consumer behaviour
g I ARSI § JUHIe acubiaT 31 g1,

Cross elasticity of demand is between complementary products.

-mmﬁmé’rwwﬁaﬂm

Duopoly is single seller

Interest is earned from labour

TS E YT HHS S,

Explain the.concept and importance of Micro-economics and Macro-economics.

& SR SO R ST Al ey ST el T .

Give meaning of Indifference Curve, Explain properties of Indifference Curves.

Hgh arar o . rgh i aRned Wy .

Explain-the concept and importance of Income elasticity and cross elasticity of demand.

Aot Jew Safadddl ST fiRe g oafubad! GeHauHm o Hgw WE I,

Discuss the objectives and role of Securities-& Exchange Board of India.

3
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Q.6 How is wage-rate determined under perfect competition? Explain.

quf el Tt R AR @ &0 a2 T B

Q.7 Write short notes: [Any three]

(1) Factors of Production
I Ueh
(i1) Demand forecasting
(iii)  Objectives of Business Firm.
I SR S
(iv) - Interest
2ak :
(v)  Perfect Competition

S

NERIAETS A CRCOCINRENIAIIANRACATIRR
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SUBJECT CODE NO:- C-3047
FACULTY OF COMMERCE AND MANAGEMENT
B.Com S.Y (Sem-IIl)

Examination November/December- 2022
Cost Account-I - IV

| Time: 03:00 Hours] [Max. Marks: 80]
Please check whether you have got the right question paper.

N.B (1) Q. 1 is compulsory.
(2) Attempt any Four questions from Q.2 to Q.7
(3) Use of calculator is allowed.

Q.1 A) Select the most appropriate answer. .

1) Cost accounting mainly helps the management in......

2)

3)

4)

a) Eamning extra profits.

b) Providing information to management.
¢) Fixing prices of the products.

d) All of the above,

In a period of rising prices, the Following inventory method would result in the lowest cost of
material used............

a) Weighted average method.

b) Simple average method.

c) First -in First - out method.

d) Last-in first - out method.

Which of the following methods of remuneration is most likely to give. Stability of labour
cost of the employers.

a) Straight piece Work.

b) Premium bonus scheme.

¢) Measured day work.

d) Group bonus scheme,

Which of the following methods as apportionment is most suitable for allocating the rent of
building between Cost centers
a) Number of employees.
b) Machine hours.
¢) Kilowatt hours.
d) Floor area.

AB22FDF6FF764326E703FSE3SDA06670 .

Q2
Q3

C-3047
5) Which of the following is not a Component of prime cost......
a) Direct materials.
b) Direct labour.
¢) Direct expenses.
d) Overhead.
B) Answers the following questions in one sentence each. 5
1) What is prime cost?
2) What is overheads?
3) What is time rate System?
4) What is Taylor, Differential piece work System
5) what is weighted average Rate System
C) Fill in the blanks and rewrite the 5
1) Sentences material + Indirect Labour +.......... = Overheads
2) Factory cost + administration overheads =.....
3) Bin Card is maintained by......
4) In........ method of pricing Closing Stock is valued at the oldest price paid.
5) Differential piece gate System provides for higher Wages to -------- ‘Workers.
5

D) State the following statements are whether True or False.
1) Cost accounting is a branch of Financial accounting
2) Main purpose of cost accounting is to maximize profit.
3) Simple average method of pricing is a more scientific method they weighted average method.
4) In LIFO method, closing stock is valued at oldest prices of materials in stock.
5) Salary paid to Factory Supervisor is indirect wages.

Explain the one elements of costs? 15

The following transactions occur in the purchase and issue of a materials, 15

(1) 02, January - 2019

Purchased 4000 units (@ RS.4 -00 per unit.
(2) 20, January - 2019

Purchased 500 units @ RS. 5-00 per unit.
(3) 05 February - 2019

Issued, 2000 units.
(4) 10 February - 2019

Purchased 6000 units RS.6-00 per units.
(5) 12 February - 2019

Issued 4000 units.
(6) 02, march - 2019

Issued 1000 units.
(7) 05, march - 2019

Issued 2000 units.
(8) 15, march - 2019

Purchased 4500 units @ RS. 5.50 Per unit.

AB22FDF6FFT64326ET03FSEISDA066T0
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SUBJECT CODE NO:- C-3054

FACULTY OF COMMERCE AND MANAGEMENT 4. Which of the following describes e-commerce.
m,.u-......nnwe._m ez.”bnm..rﬂoﬁ-w_ouﬂn.“”_.n? 2022 tom e IR T 187
Business Organization and Management a) Doing Business electronically ¢) Sale of goods
[Time: 3:00 Hours| [Max. Marks: 80] oIS TS STaur &0 R faw
Please check whether you have got the right question paper. b) Doing business d) All of the above
N.B 1. Q. No. 1 is compulsory G H0! o ud

2. Solve any 4 questions from 2 to 7.

5. The two factor theory is based on which factors?

Q.1 A) Multiple choice questions. 05 3 ved Rigia Shore FRomaR. i ofe.
mmdn_g ET a) Hygiene and behawioural ¢) Self-actualization and status quotient
1. What is the basic function of management in respect of future management action spring? sl m%amm w-ardfadd 3ty Rycfidte ves
SARIYTE HIOT] HE HTATA sFaRIGTT Hifdgdra wrdiao g b) Safety and self-esteem d) None of the above
a) Organising b) Planning ¢) Directing d) Controlling férerar onfdr arerfazars FheUP! Sy TE
ipnet fordre ez o
B) Fill in the blanks. 05
2. Financial managementisapartof . Feaprea s 211,
fa sgamaTo= @1 |14 38
a) Business management ¢) Management accounting 1. The head of the joint Hindu family businessis called___
A HARITA SEHH R Hyea fRg YT TR AT %6 S,
b) Financial Accounting d) Human Resource management
fag @.ﬂ.—i T T SR 2. Motivation are two kinds.
1 1 Wb HHORUT 3.
3. Motivation is basically a
Jfido @ oa. R <’ is the father of the need theory.
a) sociological process c) psychological process &1 TR Rygfaran e o,
qHrerETEta wisar HEITETT ufshar
b) Physiological process d) intellectual process 4. What is the limit of members in case of a private company?
7 ) 4
8A621E267TBEOC3CBEFB64CCD6S3ADBOF . . . 8AG21E26TBEOC3CBEFB64CCDASIADBOF
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SUBJECT CODE NO:- C-3060
FACULTY OF COMMERCE & MANAGEMENT
B.Com F.Y. (Sem-II)

Examination November/December- 2022
IT Application & Business

[Time: 2:00 Hours] [Max. Marks:50]

N.B

Q.1

“Please check whether you have got the right question paper”

1) Q. No.1is compulsory
2) Attempt any three from Q.2 to Q.6

A) Fill in the Blanks: 04
1) ----=----——-Communication saves time.
2) seeememmemeeen is an appropriate closing Phrase for a business letter.
3) The general purpose of Communicating through email. is -----------enx
4) A -------=--mmmmee-is a software program that runs on a networked computer.
B) Multiple choice Questions 04

I) Web browsers request pages from web servers by usinga
a) URL
b) Encoding
¢) character
d) Tag

2) Search Engine is used for
a) Search Document
b) Search Videos AN \9,\
: ©
¢) Download Software
—

d) All of the above

03158AD454125E42F 1318EC47F505AF5




Q.2
Q.3
Q4
Q.5

Q.6

3) Which of these must be avoided in any presentation?
a) Proper grammar
b) complex words
¢) short sentence

d) clear voice

4) Which is the most popular Search engine?
a) Firefox
b) Yahoo
¢) Bing
d) Google

Define Internet, Explain the need and types of Network.
Define E-maijl. Explain the importance and types of e-mail.

write short Note on;
I. Social Networking

2. Verbal and Non-verbal Communication.

03158AD454 125E42F 13 I18EC47F505AF 5
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